Review: Molecular Formula and Steichiometry Quiz

1) A compound contains 92.25% C and 7.75% H. Find the molecular formula of the compound
if its molecular mass is 78g.
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2) Find the formula of the hydrate with the following analysis: 151 g CaCl,, 49 ¢ H,O.
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3) How many grams of sulfuric acid are produced when 15 grams of hydrochloric acid reacts
with sodium sulfate in this double replacement reaction?
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4) How many grams of potassium nitrate are required to produce 7.00 g of potassium nitrite
according to the equation below? What type of reaction is this? L Bl st i e \

2KNO, - 2KNO, + O,
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5) What other type of reactions have we studied?
A Syxhesis —> A+ AS
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1) A compound contains 92.3% C and 7.7% H. Find the molecular formula of the compound if
its molecular mass is 26 g.
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2) Find the formula of the hydrate with the following analysis: 25.36 g BeBr,, 16.24 g H,O.
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3) How many grams of nitric acid are produced when 23 grams of hydrochloric acid reacts with
potassium nitrate in this double replacement reaction? @ e
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4) How many grams of magnesium would be required to produce 2.50 g of magnesium oxide?
What type of reaction is this? b
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5) What other type of reactions have we studied?
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